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Instructions :

ENGLISH VERSION

(1) This question paper contains four questions.

(2) Figures to right side indicate full marks of the question.

(3) Show required calculations as the part of answer.

1  The Balance Sheets of ORPAT Ltd. as on 31-3-2016 and 20
31-3-2017 are as under :
Liabilities 31-3-'16 | 31-3-'17] Assets 31-3-'16 | 31-3-'17
Eq. share capital 6,00,000 | 8,00,000| Fixed Assets
Capital Reserve - 20,000 (At cost) 16,00,000 | 19,00,000
General Reserve 340,000 | 4,00,000| Less - Depre. 460,000 | 5,80,000
Pand L Alc 1,20,000 | 1,50,000 11,40,000 | 13,20,000
Debentures 400,000 | 2,80,000| Investments 2,00,000 | 1,60,000
Creditors 1,20,000 | 140,000 Debtors 220,000 | 2,80,000
Worker's saving A/c 80,000 | 1,00,000| Stock 2,00,000 | 2,60,000
Bills payable 40,000 20,000 | Prepaid
Taxation provision 1,80,000 1,70,000 Insurance premium 60,000 80,000
Proposed Dividend 60,000 72,000 | Cash / Bank 80,000 40,000
Unpaid Dividend - 8,000 | Preli. Exps. 40,000 20,000
19,40,000 | 21,60,000 19,40,000 | 21,60,000
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During the year 2016-17 the company :

(1) Income tax paid Rs. 1,60,000.

(2) Redeemed of debentures at Rs. 103.

(3) Sold one machine for Rs. 50,000 the cost of which was
Rs. 1,00,000 and the depreciation provided on it, was
Rs. 42,000.

(4) Provided Rs. 1,90,000 as depreciation.

(5) Writes off Fixed Assets' cost Rs. 28,000 which is fully
depreciated.

(6) Sold some trade investments at a profit, which was

credited to capital reserve.

Prepare Fund Flow Statement with required calculations

from the above information.

OR

1 The following are the condensed Balance Sheets of KP Ltd. 20
on 318t March :

Liabilities 31-3-'15 31-3-'14 | Assets 31-3-'15 31-3-'14
Eq. share, each Goodwill 70,000 75,000
of Rs. 10 3,75,000 2,50,000 | Building 2,50,000 1,50,000
General Reserve 50,000 1,50,000 | Plants 237,500 1,00,000
P & L Account 30,000 25,000 | Investments 30,000 37,500
10% Debentures 1,25,000 - | Stock 62,500 40,000
Bank overdraft 50,000 50,000 | Debtors 52,500 1,22,500
Creditors 67,500 60,500 | Cash / Bank 32,500 30,000
Provident Fund 10,000 2,000 | Preli. Exps. 15,000 20,000

Tax Provision 42,500 37,500
7,50,000 5,75,000 7,50,000 5,75,000
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Additional information :

(1) Depreciation charged Rs. 15,000 on Building and
Rs. 10,000 on plants.

(2) A plant having book value of Rs. 25,000 was sold with
profit. This profit was credited to Capital Reserve
Account. Goodwill was written off against capital

reserve.
(3) During the year Debentures were issued at 5% discount.

(4) Closing stock of 31-3-2014 was shown at price which
1s 20% less than cost price. Closing stock of 31-3-2015

1s shown at cost price.
(5) Investment of Rs. 12,500 were sold at 20% profit.

(6) On 1-4-2014 Bonus shares at one share for every two

shares were issued by capitalised General Reserve.

(7) Income tax of Rs. 35,000 was paid during the year and
interim dividend Rs. 20,000 was paid during the year.

Prepare Fund Flow Statement for the year 31-3-2015

with required calculations from the above information.

2 Find out the following ratios from the Balance Sheet of 20
Super Co. Ltd. as on 31-3-2016 and additional details

are given to you :
(1) Net profit ratio
(2) Stock turnover ratio

(3) Ownership ratio
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(4) Rate of return on capital employed

(5) Creditors ratio

(6) Rate of return on equity capital and

(7) Capital employed to fixed assets ratio.

Balance Sheet of Super Co. Ltd. as on 31-3-2016

Liabilities Rs. | Assets Rs.
Eq. share capital Fixed Assets 7,50,000
(each of Rs. 10) 6,00,000 | Stock 1,75,000
Reserve and Surplus 1,70,000 | Debtors 2,00,000
8% Debentures 2,50,000 | Bills receivable 50,000
Bank overdraft 3,00,000 | Cash/ Bank 2,45,000

Creditors 1,00,000
14,20,000 14,20,000

Additional information :

(1) Cash Sales 1s 20% of total sales.

(2) Stock on 1-4-2015 1s Rs. 1,25,000.

(3) Gross profit 1s 40% of Sales.

(4) Debtors ratio is of 90 days. [Consider 360 days of the year.]

(5) Net profit, before the Interest and tax is Rs. 2,50,000.

(6) Rate of taxation 1s 50%.

MCS-002-001503]

OR

12

[ Contd....



2  The Balance Sheet of Prakash Ltd. as on 31-3-2017 is 20

as under :
Liabilities Rs. | Assets Rs.
Eq. share capital Fixed Assets 5,00,000
(each of Rs. 10) 5,00,000 | Plant Machinery 2,00,000
General Reserve 400,000 | Stock 1,50,000
P. & L. Account 1,50,000 | Debtors 2,00,000
Creditors 1,20,000 | Bills receivable 50,000
Bills payable 80,000 [ Cash / Bank 1,70,000
Bank overdraft 50,000 | Preli. Exps. 30,000
13,00,000 13,00,000

Following details were furnished for the year ended on

31-3-2017 :

(1) Opening stock

(2) Closing stock

(3) Purchases........

(4) Sales (Credit)

....................................... Rs. 2,50,000
....................................... Rs. 1,50,000
..................................... Rs. 10,50,000

..................................... Rs. 18,00,000

(5) Administrative eXpenses ....................... Rs. 2,30,000
(6) Sales-distribution expenses ................... Rs. 1,00,000
(7) Financial expenses ...............cccecvveeeeennnn.. Rs. 20,000

(8) Profit on sale
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Find out following ratios with required calculations :

(1)
2)
)
(4)
)
(6)
(7)
(8)

Gross profit ratio

Net profit ratio

Operating ratio

Current ratio

Liquid ratio

Stock turnover ratio

Debtor's ratio (Consider 365 days of a year)

Rate of return on capital employed.

(On basis of Net profit after interest and tax).

3  Shiva Ltd. has shown following particulars :

Sales Rs. 16,00,000

Profit-volume ratio 60%

Margin of safety 50%.

Find out following :

(1)
2)
)
(4)
)

B E P (Rs.)

Fixed expenses Rs.
Contribution Rs.
Profit Rs.

Variable cost Rs.

OR
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3  Following information is availed of Manan Ltd. : 15

Year (315t March) Cost Rs. Sales Rs.
2014 3.22.500 3.00,000
2015 412,500 4.50,000

Find out :

(1) Profit volume ratio

(2) Fixed cost and variable cost for the year 2015

(3) Break Even point (Rs.)

(4) Profit on Sales of Rs. 6,00,000

(5) Sales when the loss is of Rs. 7,500.

4  Rami Co. Ltd. manufacturing three products.

15

Following particulars are obtained from it's books of account :

Particulars Prod.- A Prod.- B Prod. - C
Variable cost per unit (Rs.) 15 20 12
Sales price per unit (Rs.) 30 40 20
Sales mix (in percentage) 35 35 30

Total fixed cost Rs. 5,40,000

Total sales Rs. 18,00,000.

Company proposes to introduce new product - 'Z', in lieu of

product - 'C' and purticulars of new sales mix (estimated) are

as under :
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Particulars Prod.- A Prod.- B Prod. - Z
Variable cost per unit (Rs.) 15 20 15
Sales price per unit (Rs.) 30 40 30
Sales mix (in percentage) 45 25 30

Total fixed cost and total sales will remain unchanged.

Do you believe that introducing of product - 'Z' in place of
product - 'C' is advisable ? Explain your answer with necessary

calculations.
OR
4  Write answer for the following : 15
(1) Describe meaning and scope of management accounting.

(2) Discuss the difference between financial accounting and

management accounting.
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